कार्यालय प्राचार्य, शासकीय महाविद्यालय पुसौर जिला-रायगढ़ (छ.ग.)

क्रमांक/20/ रिक्स/2017-18

पुसौर दिनांक 31-01-18

प्रति.

प्राचार्य (अग्रणी) कि. शास. कला एवं विज्ञान महाविद्यालय रायगढ़ (छ.ग.)

विषयः-

शासकीय महाविद्यालय पुसौर जिला-रायगढ़ (छ.ग.) (Portal ID- ins6014)

छात्रवृत्ति सत्र् २०१७-१८ KYC जमा करने बाबत्।

सन्दर्भः-

कार्यालय कलेक्टर (आदिवासी विकास शाखा रायगढ़ (छ.ग.) का पत्र

क्रमांक...../आ.जा.क./छात्रवृत्ति /2017-18 दिनांक

उपरोक्त विषयान्तर्गत लेख है कि शासकीय महाविद्यालय पुसौर जिला रायगढ़ छात्रवृत्ति पोर्टल आई डी ins6014 में वर्गवार निम्नानुसार छात्र-छात्राओं का के वाई सी आवश्यक कार्यवाही हेत् आपकी ओर सम्प्रेषित है।

क्र.	अन्य पिछड़ा वर्ग	अनुसूचित जाति	अनुसूचित जनजाति	योग
01	295	43	67	405

संलग्नः

1. KYC तीन प्रति ।

Q 2019

College महाविद्यालिख: अपसीर

पैजला-रायगढ़ (छ.ग.)

, ST & OBC Welfare Department, Govt.

Welcome Government Collage Pussore || Logout || Portal Home || User Name[ins6014]





Home ::	User Mnt ::	Inst
×		

Gallery

dmii	n:: Notice	Board ::	Pr	ocess A	pplication	s ::	Sancti	ion ::	Reports	5 ::	
Sche	me Wise Appli	cation Sum	ımary				***************************************				
	HELP : T	his page wi	II displ	ay sumn ect acac	nary of app lemic year	olicatio and pr	ns receiv ess butto	ed under on to view	different report.		
					Summa						
	Acade	emic Year :	2017 -	18			Show I	Report			
		Sumn	nary	of re	ceived			ons	011		
		Instit	ute Lev	el		***********	on Level		Disburs	_	H
S.no.	Scheme Name	Total Received Applications	Under Process	Rejected	Total Sanctioned	Process	Rejected	Sanctioned Amount	Total Disbursed	Total Disburse Amoun	ed
1	Post Matric OBC Scholarship	301	1		295	0	0	749160	0		0
2	Post Matric SC Scholarship	46	0	3	43	0	0	190417	0		(
	Post Matric ST Scholarship	68	() 1	67	0					1
3	Scholarship) 1(405	(0				

Govt. Naveen College Pussore, Oin Raigarh (C.G.)



Beholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: R/7/6014/3/10/82276

Sanction Date: 27/01/2018

Applications Type: Renewal

Canana to	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee
166632	susmita gupta	Female	B. Sc./Science/III	Renewal	10	85	850	0	1734	1734
227901	227901 VIJETA MEHAR	Female	B. Com./Commerce/III	Renewal	10	85	850	0	1684	1684
230647	30647 Nilam Sao	Female	B. Com./Commerce/III	Renewal	10	85	850	. 0	1684	1684
238900	38900 Payal Gupta	Female	B. Sc./Science/III	Renewal	10	85	850	0	1734	1734
239848	19840 Gayatri Patel	Female	B. Sc./Science/III	Renewal	10	85	850	0	1734	1734
241055	11055 DIVYA SAHU	Female	B. Com./Commerce/III	Renewal	10	85	850	0	1684	1684
247301	147101 Vedprakash Pradhan	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1684	1799
255372	255372 KAJAL SAHU	Female	B. Sc./Science/II	Renewal	10	85	850	0	1734	1734
257350	157350 Rasmita Gupta	Female	B. Sc./Science/III	Renewal	10	85	850	0	1734	1734
305401	105401 Sanjay Kumar Choudhary	Male	B. A./Arts/III	Renewal	10	70	700	115	1684	1799
329452	ANIL KHAMHARI	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1684	1799
363461	161161 VANDANA BHOY	Female	B. A./Arts/III	Renewal	10	85	, 850	0	1684	1684
364974	64974 DURGESH BHOY	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1684	1799
365079	165079 SRAWAN KUMAR BARIK	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1684	1799
374389	174389 DAMINI BHOY	Female	B. Sc./Science/III	Renewal	10	85	850	0	1734	1734
424797	124797 KHIRSAGAR GUPTA	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1684	1799
516731	516731 JANHAVI GUPTA	Female	B. A./Arts/III	Renewal	10	85	850	0	1684	1684

eclaration :

wilher regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. mildate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts while form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the In no. 1 to 2081 do here by sanctioning a sum of Rs. 5.2.8.9.17...Out of which Rs.16.76.75 as maintenance allowance and Rs. 3.6.16.4.2.as tuition and other fees. Printed copy of online Illied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

(Signature & Sealibrational of the Institution)

Name (Capital Seas College

Name (Capital Seas College)



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: R/7/6014/3/10/82276

Applications Type: Renewal

Sanction Date:

27/01/2018

Applic	Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance	Tuition Fee	Other Fee	Total Fee	Tota
18	518307 priyanka patel	Female	B. A./Arts/III	Renewal	10	85	850	0	1684	1684	
19	533718 MADAN SUNDAR CHAKRAVARTI	Male	B. Sc./Science/III	Renewal	10	70	700	135	1734	1869	
20	538628 NEHA PRADHAN	Female	B. A./Arts/III	Renewal	10	85	850	0	1684	1684	Marin and American American
15	541955 REENA BHOY	Female	B. A./Arts/III	Renewal	10	85	850	0	1684	1684	
22	564814 ARTI GUPTA	Female	B. A./Arts/III	Renewal	10	85	850	0	1684	1684	THE PERSON NAMED IN
20	564839 BHARTI GUPTA	Female	B. A./Arts/III	Renewal	10	85	850	0	1684	1684	
24	566914 MEENA GUPTA	Female	B. Com./Commerce/II	Renewal	10	85	850	0	1684	1684	
2	566919 PREMSHEELA GUPTA	Female	B. Com./Commerce/III	Renewal	10	85	850	0	1684	1684	
36	566921 SABYA GUPTA	Female	B. Com./Commerce/III	Renewal	10	85	850	0	1684	1684	
27	567336 LATA GUPTA	Female	B. A./Arts/III	Renewal	10	85	850	0	1684	1684	
23	574835 BEDMATI SAO	Female	B. A./Arts/III	Renewal	10	85	850	0	1684	1684	
29	576729 SHAIL KUMARI SAO	Female	B. Com./Commerce/III	Renewal	10	85	850	0	1684	1684	· ·
60	577276 PREETI GUPTA	Female	B. Com./Commerce/III	Renewal	10	85	850	0	1684	1684	
15	577311 BEDPRAKASH SAO	Male	B. Sc./Science/III	Renewal	10	70	700	135	1734	1869	With the Control of t
22	577351 MEERA SAO	Female	B. Sc./Science/III	Renewal	10	85	850	0	1734	1734	
2	581084 TOSH KUMARI SAO	Female	B. Sc./Science/II	Renewal	10	85	850	0	1734	1734	
34	597592 VISHWANATH PRADHAN	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1684	1799	
57	631135 SUBHASHINEE SAO	Female	B. A./Arts/III	Renewal	10	85	850	0	1684	1684	

eclaration :

addute have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts rolarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the lal no. 1 to I do here by sanctioning a sum of Rs. Illed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature & Seal of Head of the Institution)
Name (Capital Legan) College
Name (Capital Legan) College

dovernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: R/7/6014/3/10/82276

Sanction Date: 27/01/2018

Applications	
Type:	
Renewal	

43	77	5	3	47	48	5	24	74	44	42	42	11	40	29	20	87	36	Appl
899933 MO	645905 RAG	899913 VARUN SA	893231 MAI	865667 AKA	640662 MAMTA GUPTA	807240 SAN	753570 NAV	640339 PREETI GUPTA	749315 UM	647534 ASH	640334 USHA YADAV	647507 JEE	640328 NIKKEE BHOY	632064 VEE	623023 RAJU YADAV	612886 LAL	599624 SET	Application ID
899933 MOTEE LAL PATEL	645905 RAGINEE GUPTA	UN SA	893231 MAHESH KUMAR SAO	865667 AKASH GADHTIYA	MTA GUPTA	807240 SANTOSH KUMAR PRADHAN	753570 NAVIN KUMAR SAO	ETI GUPTA	749315 UMESH KUMAR PATEL	647534 ASHISH PRADHAN	HA YADAV	647507 JEEVAN PRASAD	KEE BHOY	632064 VEENA PRADHAN	JU YADAV	612886 LALU PRASAD SWARNAKAR	599624 SETRAJ YADAV	Student Name
Male	Female	Male	Male	Male	Female	Male	Male	Female	Male	Male	Female	Male	Female	Female	Male	Male	Male	Gender
B. Com./Commerce/II	B. Com./Commerce/III	B. Com./Commerce/II	B. Com./Commerce/III	B. Sc./Science/II	B. A./Arts/III	B. Com./Commerce/II	B. Com./Commerce/III	B. Sc./Science/III	B. Sc./Science/II	B. Com./Commerce/III	B. A./Arts/III	B. A./Arts/III	B. Sc./Science/II	B. Sc./Science/III	B. Sc./Science/III	B. Sc./Science/III	B. Sc./Science/III	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	No. of Month
70	85	70	70	70	85	70	70	85	70	70	, 85	70	85	85	70	70	70	Rate
700	850	700	700	700	, 850	700	700	850	700	700	850	700	850	850	700	700	700	Maintenence Allowance
115	0	115	115	135	0	115	115	0	135	115	0	115	0	0	135	135	135	Tuition Fee
1684	1684	1684	1684	1734	1684	1684	1684	1734	1734	1684	1684	1684	1734	1734	1734	1734	1734	Other Fee
1799	1684	1799	1799	1869	1684	1799	1799	1734	1869	1799	1684	1799	1734	1734	1869	1869	1869	Total Fee
2499	2534	2499	2499	2569	2534	2499	2499	2584	2569	2499	2534	2499	2584	2584	2569	2569	2569	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance

glaration:

filled that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from all date have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts planship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the lal no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Seeling Head of the Institution)
Name (Capreal Letels)
Pargara (C.S.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

827/6

State: Government of Chhattisgarh
Sanction Number: R/7/6014/3/10/82276

Sanction Date: 27/01/2018

Applications Type: Renewal

Appli	lication ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance	Tuition Fee	Other Fee	Total Fee
24	899967 CHANDRA SHEKHAR NAIK	Male	B. Com./Commerce/II	Renewal	10	70	700	115	1684	1799
2	907737 MAHENDRA PRADHAN	Male	B. A./Arts/III	Renewal	10	70	700	115	1684	1799
93	646570 SUSHMA YADAV	Female	B. Sc./Science/III	Renewal	10	85	850	0	1734	1734
2.3	913779 SATYAM GUPTA	Male	B. Com./Commerce/II	Renewal	10	70	700	115	1684	1799
4	924257 DEEKSIT GUPTA	Male	B. A./Arts/II	Renewal	10	70	700	115	1684	1799
3 :	938927 ANUP BEHARA	Male	B. Sc./Science/II	Renewal	10	70	700	135	1734	1869
0.1	990600 BHAGAT RAM GUPTA	Male	B. Sc./Science/II	Renewal	10	70	700	135	1734	1869
()	647182 PADMINI NAYAK	Female	B. Com./Commerce/II	Renewal	10	85	850	0	1684	1684
17	993835 VIKAS GUPTA	Male	B. Sc./Science/II	Renewal	10	70	700	135	1734	1869
62	1075373 DEEPAK GUPTA	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1684	1799
64	1075829 SANJU YADAV	Male	B. A./Arts/III	Renewal	10	70	700	115	1684	1799
5	1081371 DEEPAK PATEL	Male	B. A./Arts/II	Renewal	10	70	700	115	1684	1799
29	675206 SARITA PATEL	Female	B. Com./Commerce/II	Renewal	10	85	850	0	1684	1684
63	1134355 REEMA BISHAL	Male	B. A./Arts/III	Renewal	10	85	850	0	1684	1684
69	1135619 KAILASH RANA	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1684	1799
69	1136177 PRATIK PRADHAN	Male	B. A./Arts/III	Renewal	10	70	700	115	1684	1799
70	715531 REVATI DEHARI	Female	B. Sc./Science/III	Renewal	10	85	850	0	1734	1734
16	1136543 SUNIL PRADHAN	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1684	1799

eglaration:

other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Idate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts iolarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the lal no. 1 to I do here by sanctioning a sum of Rs. Illed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature & Scan Gracad of the Institution)
Nam (Reachay teneraling)
Pussore Bir Raigarh (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: R/7/6014/3/10/82276

Sanction Date: 27/01/2018

Applications Type: Renewal

Table 1	113671 VAMI ECH VADAV	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance	Tuition Fee	Othe	er Fee
72	1136671 KAMLESH YADAV	Male	B. Com./Commerce/III	Renewal	10	70	700	115	OI	5 1684
25	1136915 BASANTA SAO	Male	B. Sc./Science/III	Renewal	10	85	850	0		
74	745904 PALLAVI PATEL	Female	B. Sc./Science/II	Renewal	10	85	850	0		1734
5	1137119 NILMANI MEHER	Male	B. Sc./Science/III	Renewal	10	70	700	125	- 1	1724
	1142005 SWAPNII MAHANA	N N	D Com /Communication		,	,0	000	CCT		1/34
76	1172003 SWAFNIL MAHANA	Male	B. Com./Commerce/III	Renewal	10	70	700	115		1684
77	1149974 JHASKETAN SAO	Male	B. Com./Commerce/III	Renewal	10	70	700	115		1684
K4	1155662 NIMAICHARAN PRADHAN	Male	B. Com./Commerce/III	Renewal	10	70	700	115		4 60
	746748 SEEMA CLIDTA	,		- Cardi	10	/0	00/	511		1684
79	740740 SEEMA GUPIA	Female	B. Sc./Science/III	Renewal	10	85	850	0		1734
To	1254919 SHIVCHARAN GUPTA	Male	B. Com./Commerce/III	Renewal	10	70	700	115		1684
9/	1269450 SHATRUGHAN YADAV	Male	B. A./Arts/III	Renewal	10	70	700	115		1684
32	1273684 RADHESHYAM GUPTA	Male	B. A./Arts/II	Renewal	10	70	700	115		1604
00	1289145 BIRJU YADAV	Male	B A /Arts/II	Donowal	5	20	,00	113		+00T
	1201610 BAINT GUBTA			NOTICINGI	OT	0/	00/	115		1684
84	IZZIOIO RADAI GOPIA	Male	B. Com./Commerce/III	Renewal	10	70	700	115		1684
50	746761 ANJU GUPTA	Female	B. Sc./Science/II	Renewal	10	85	850	0		1734
16	1295508 TANKESHWAR PRADHAN	Male	B. Com./Commerce/II	Renewal	10	70	700	115		1684
97	1302110 BALKRISHNA GUPTA	Male	B. Com./Commerce/II	Renewal	10	70	700	115		1604
	1302445 ANIL GUPTA	Male	B. Com./Commerce/III	Renewal	10	70	700	111		100H
-	1402107 BANSHIDHAR PRADHAN	Major di	D A /A-b/TTT	Neilewal	OT	٥/	/00/	115		1684
3	TOZION DANSTIDUAK PRADHAN	Male	B. A./Arts/III	Renewal	10	70	DOZ	115		

claration :

Iddate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts lolarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the lal no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......or maintenance allowance and Rs.as tuition and other fees. Printed copy of online Illed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Seal of Head of the Institution)
Name (Capital Leters) (200

Pussore, Di Raigarh (C.G.)

overnment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: R/7/6014/3/10/82276

Applications Type: Renewal Sanction Date: 27/01/2018

ddw	Student Name	Gender	er College					Application	Applications Type: Renewal
90	748771 PINCHY MAHANA	Female		Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Allowance	Tuition Fee	Other Fee
9)	1403533 ABHISHEK GUPTA	Mala	b. Com./Commerce/III	Renewal	10	85	850	D	
	1405003 CADENIDOA CHIERA	Hidie	B. Sc./Science/III	Renewal	10	70		0	1684
72	14303CO SAPENDRA GUPTA	Male	B. Sc./Science/III	Renewal	40 0	20	700	135	1734
73	143U368 YOGESH YADAV	Male	B. Sc./Science/II	Donocial	OT	70	700	135	1734
110	749300 NEHA CHOUDHARY	Female	D C (C :	Kellewal	10	70	700	135	1754
	1433951 Netrapand Name		p. 3c./3clence/III	Renewal	10	20	and the second s		TC/1
73	1442764 Neu andrid Nayak	Male	B. Com./Commerce/II	Renewal	10	00	850	0	1734
76	1442/64 NIRMAL PRADHAN	Male	B. Com./Commerce/II	Popolicial	OT	70	700	115	1684
17	1446242 HEERANAND GUPTA	Male	B Com /Company	Verlewdi	10	70	700	115	1684
18	772540 rupina gupta	Econolo	o. com/commerce/II	Renewal	10	70	700	110	1001
	1447036 MIJKESH BHOV	remale	B. A./Arts/III	Renewal	10	2 2Л	200	511	1684
77	TARRADA PICKEST BHOY	Male	B. Com./Commerce/III	Renewal	10	00	850	0	1684
00	THOTAL BANMALI SAHU	Male	B. Com./Commerce/II	Posterior	OT	70	700	115	1684
101	1455387 PARMESHWAR SAO	Male	B. A./Arts/III	- Cricwal	. 10	70	700	115	1684
1 4	789385 BILASINEE MALI	Female	B CC /Ccion / Ann	Kenewal	9	55	495	115	1607
00	794351 JYOTI PRADHAN	1 (1	b. Sc./Science/III	Renewal	10	85	950) (1,00T
	647213 INCVASEAU SOLICIA	Female	B. Com./Commerce/III	Renewal	10	0 0	000	0	1734
the co	GAZZZZ ZZGI AZENI PRADHAN	Female	B. Sc./Science/III	Renewal	10	00	850	0	1684
50	04/336 PRATIMA PRADHAN	Female	B. Sc./Science/III	Population	OT	85	850	0	1734
20	844788 SUNITA BARIK	Eomolo	D (C) (C) (C) (III	Renewal	10	85	850	0	
4.0	866595 MAMTA MAHANT	Female	B. Sc./Science/II	Renewal	10	85	000	0	1734
-	TATIAN MANAGEMENT	Female	B. Sc./Science/II	Renewal		0 0	058	O	1734
claration :			THE RESERVE THE PROPERTY OF TH						

Illidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts olarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the In 100. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Illied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Sear of Head of the Institution)
Name (Capital Nation)
Name (Capital Nation)

dovernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

2017 - 18

State: Government of Chhattisgarh

Sanction Number: R/7/6014/3/10/82276

Sanction Date: 27/01/2018

Applications Type: Renewal

Applic /8	Application ID Student Name 8 877429 UMA SAO 9 883029 ARTI GUPTA 9 844822 REENA YADAV	Gender Female Female	B. Sc./Science/II B. Sc./Science/II B. A./Arts/II	Renewal Renewal	No. of Month 10 10 10	85 85 85 85	Maintenence Allowance Tuition Fee Other Fee Indian Fee Indi	Tuition Fee 0 0 0 0	c	1734 1734 1684 1734
110	885366 ROSHANEE GUPTA	Female	B. Sc./Science/II	Renewal	10	85	850		, ,	
	800669 BHARTI GUPTA	Female	B. Sc./Science/II	Renewal	10	85	850		0	
112	890669 BRAKII GOFIA	Eamala	B Sc /Science/II	Renewal	10	85	850		0	0 1734
113	913235 ANJU LATA GUPIA	remale	B. Sc./Science/II	Penewa	10	85	850		0	0 1734
114	914144 HEMLATA GUPTA	Female	B. Sc./Science/11	Keriewai	10 0	0 0	850		0	0 1734
-	925888 GAYATRI PATEL	Female	B. Sc./Science/II	Renewal	10	85	050		0 0	
	844848 AARTI MEHAR	Female	B. A./Arts/II	Renewal	10	85	850		o c	
9	845799 RATANAVATI GUPTA	Female	B. A./Arts/II	Renewal	10	85	850			
,	848531 DIVYA GUPTA	Female	B. A./Arts/II	Renewal	. 10	85	850		0 0	
0	873298 SUCHITA GUPTA	Female	B. Sc./Science/II	Renewal	10	85	058		0 0	0 1734
0	962353 DISHA BHOY	Female	B. Sc./Science/II	Renewal	10	85	850			0 1684
	879584 REETU GUPTA	Female	B. A./Arts/II	Renewal	10	85	850			0 1734
1	993082 SANGEETA MALAKAR	Female	B. Sc./Science/II	Renewal	10	85	850			0 1734
	993535 BHANUMATI SHRIVAS	Female	B. Sc./Science/II	Renewal	10	85	850			0 1/34
- 6	993651 KAVITA PATEL	Female	B. Sc./Science/II	Renewal	10	85	850		0	
2	882711 CHANDRAWATI PAIGWAR	Female	B. A./Arts/II	Renewal	10	85	850		0	0 1684
	002/11 CHAMDINAMALL LAWS.				THE PARTY OF THE P		The second name of the second na		-	

glaration:

olarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Illied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from uldate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Inl no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Seunci Peud of the Institution)

Name (CS) Marzere Spiloso Pussor, DF Raigarh (C.G.)

overnment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: R/7/6014/3/10/82276

Sanction Date: 27/01/2018

Applications Type: Renewal

Appli	Application ID Student Name 1004525 HEMLATA SAO	Gender Female	Course B. Sc./Science/II	Type Renewal	No. of Month	1000000	Rate 85	85	85	Maintenence Tuition Fe Allowance 85
127	1038239 SUMITRA POBIYA	Female	B. Sc./Science/II	Renewal		10	10 85	85	85 850	85 850 0
12.4	1074563 ARUNA SAO	Female	B. Sc./Science/II	Renewal		10	10 85		85	85 850 0
129	1127890 REETA PRADHAN	Female	B. Sc./Science/III	Renewal		10	10 85	Personal State of the State of	85	85 850 0
/30	890425 DIVYA PATEL	Female	B. A./Arts/II	Renewal		10	10 85		85	85 850 0
121	1133583 RAJNI GUPTA	Female	B. Sc./Science/III	Renewal		10	10 85		85	85 850 0
122	1135110 MAHIMA GUPTA	Fernale	B. Sc./Science/III	Renewal		10	10 85		85	85 850 0
123	913509 BANITA GUPTA	Female	B. A./Arts/II	Renewal		10	10 85		85	85 850
124	1135267 Sonali Gupta	Female	B. Sc./Science/III	Renewal		10	10 85		85	85 850
188	1136772 UMA SAO	Female	B. Sc./Science/III	Renewal		10	10 85		85	85 850
781	894647 GEETA PATEL	Female	B. Com./Commerce/II	Renewal		10	10 85		85	85 850
137	1136861 YASHOWANTI SAO	Female	B. Sc./Science/III	Renewal		10	10 85		85	85 850
120	1137263 SHARDA GUPTA	Female	B. Sc./Science/III	Renewal		10	10 85		85	85 850
27	920834 KAILASINI GUPTA	Female	B. A./Arts/II	Renewal		10	10 85		85	85 850
40	1141989 DHANMATI GUPTA	Female	B. Sc./Science/III	Renewal		10	10 85		85	85 850
141	1251308 BEDRAM CHOUDHARY	Female	B. Sc./Science/II	Renewal		10	10 70		70	70 700
42	1254741 NEHA SAO	Eomolo	B. Sc./Science/II	Renewal		10	10 85		85	85 850
43		Гентаге				2				10

claration :

allitate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts olarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Illed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from al no. 1 to I do here by sanctioning a sum of Rs. other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online



Page 8/12

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: R/7/6014/3/10/82276

Applications Type: Renewal

Sanction Date:

27/01/2018

Applic	Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance	Tuition Fee	Other Fe	
144	1269931 MONA GUPTA	Female	B. Sc./Science/III	Renewal	10	85	850	0		1734
145	1274250 DEEPANJALEE GUPTA	Female	B. Sc./Science/II	Renewal	10	85	850	0		1734
146	1284049 KAJAL BAIRAGI	Female	B. Sc./Science/III	Renewal	10	85	850	0		1734
147	1288417 KHUSHABOO GUPTA	Female	B. Sc./Science/II	Renewal	10	85	850	0	and the same	1734
841	889204 RINKEE PRADHAN	Female	B. A./Arts/II	Renewal	10	85	850	0	***************************************	1684
149	893843 PRITI PATEL	Female	B. A./Arts/II	Renewal	10	85	850	0		1684
2	918793 SANTOSHI PATEL	Female	B. A./Arts/II	Renewal	10	85	850	0		1684
151	920865 BILASINI GUPTA	Female	B. A./Arts/II	Renewal	10	85	850	0		1684
121	921204 HITMA YADAW	Female	B. A./Arts/II	Renewal	10	85	850	0		1684
2	935271 ARTI YADAV	Female	B. A./Arts/II	Renewal	10	85	850	0		1684
5	938989 CHANDA GUPTA	Female	B. Com./Commerce/II	Renewal	10	85	850	0	_	1684
155	1004777 AARTI YADAV	Female	B. A./Arts/II	Renewal	10	85	850	0	_	1684
156	1004837 RAMILA PRADHAN	Female	B. A./Arts/II	Renewal	10	85	850	0	1	1684
5	1043942 REETA DEHARI	Female	B. A./Arts/III	Renewal	10	85	850	0	- Company and Company	1684
45	1074513 AMBIKA GUPTA	Female	B. Com./Commerce/II	Renewal	10	85	850	0		1684
5	1076300 CHETANA YADAV	Female	B. Sc./Science/II	Renewal	10	85	850	0		1734
0 3	1134479 HEENA SAO	Female	B. A./Arts/III	Renewal	10	85	850	0		1684
161	1135064 JYOTSANA GUPTA	Female	B. A./Arts/III	Renewal	10	85	850	0		1684

elaration :

Illian have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts while form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the lal no. 1 to I do here by sanctioning a sum of Rs. ... If fed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from of the regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature Richard of the Institution) NanGolda biata bent Cus Mage Pussoire.Br Raigarh(C.G.)

Res

82276

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State : Government of Chhattisgarh

Sanction Number: R/7/6014/3/10/82276 Sanction Date: 27/01/2018

Applications Type: Renewal

Augus	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance	Tuition Fee	Other Fee	Total Fee	Total Amou
162	1135203 VINODINEE GUPTA	Female	B. A./Arts/III	Renewal	10	85	850	0	1684	1684	2534
63	1136851 BABLEE YADAV	Female	B. Sc./Science/III	Renewal	10	85	850	0	1734	1734	
164	1137196 PUSPLATA SAO	Female	B. Com./Commerce/III	Renewal	10	85	850	0	1694	1607	
24	1140952 SUNITA PRADHAN	Female	B. A./Arts/III	Renewal	10	χл (000	0 0	TOOL	1004	
00	1141268 KAVITA GIIPTA		- A (A - /TTT		10	0.0	000	0	1684	1684	2534
991	LITIZOO NAVIA GOPIA	Female	B. A./Arts/III	Renewal	10	85	850	0	1684	1684	2534
167	1183529 KU SARITA PRADHAN	Female	B. A./Arts/II	Renewal	10	85	850	0	1684	1684	On the second se
6.9	1217371 DEWAKI PRADHAN	Female	B. A./Arts/III	Renewal	10	287	850	0	1604	1004	2551
ď	1238810 KIRAN MAHANT	Female	B. A./Arts/II	Renewal	10	20,7	050	0	1001	T001	2534
0 40	1238984 MANJU SAO	Female	B. A./Arts/II	Renewal	10	0 0	0 0		100T	1084	2534
	1244388 BHIMISHTA GIPTA	Emplo	D A /A-t-/III		10	00	000	C	1684	1684	2534
1	1344760 44777 70777	- criidic	D. A./AILS/11	Kenewal	10	85	850	0	1684	1684	2534
172	1244/60 AARII PRADHAN	Female	B. A./Arts/II	Renewal	10	85	850	0	1684	1684	2534
90	1245450 TAPASVINEE THANAPATI	Female	B. A./Arts/II	Renewal	10	85	850	0	1684	1684	
74	1250151 PRAVEENA GUPTA	Female	B. Com./Commerce/II	Renewal	10	28	850	0 0	1001	1001	4007
? .	1251509 NIRUPAMA GUPTA	Female	B. A./Arts/II	Renewal	10	00	0 0		LOOT	+001	2534
-	1251622 IYOTI NISAD	Town I		INCINCINGI	10	00	850	C	1684	1684	2534
6	TOTAL STORY CALL	remale	B. A./Arts/II	Renewal	10	85	850	0	1684	1684	2534
77	1231/26 KARISHMA SAHU	Female	B. A./Arts/II	Renewal	10	85	850	0	1684	1684	2534
28	1251964 ANUPAMA GUPTA	Female	B. A./Arts/II	Renewal	10	85	850	0	1684	1684	2534
4	1259310 VEENA MEHAR	Female	B. Com /Commerce/III	Penewal	Annual of the Contract of the	00	070				Control of the Contro

ration:

alluluse have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts colorship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the al no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online of the regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Illied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

(Signature Review tiph Fad of the Institution)
NarSoy(Caline the Review (G.G.)
Pyssoy(Caline the Igarh(C.G.)

overnment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

ademic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: R/7/6014/3/10/82276

Sanction Date: 27/01/2018 Applications Type: Renewal

Academic Year: Application ID 1258499 SAVITA PATEL 1265929 SAPNA BANJARA 1266655 LALIMA SAO	2017 - 18 Name F	Gender Female Female	Course B. Sc./Science/II B. A./Arts/II B. Com./Commerce/III	Type Renewal Renewal	No. of Month 10 10	Rate 85 85	Maintenence Tuition I Allowance 850 850	Fee 0	9		Total F
1266822 RASMITA BARIK		Female	B. A./Arts/II	Renewal	10	And the state of t	85	85 850		850 0	850 0 1684
1266903 MAMTA SAO		Female	B. A./Arts/III	Renewal	10		85	85 850		850 0	850 0 1684
1266970 KAILASHINI GUPTA		Female	B. Sc./Science/III	Renewal	10		85	85 850		850 0	850 0 1734
1267197 TEJASHWINI SAO		Female	B. Com./Commerce/II	Renewal	10		85	85 850			850 0 1684
1273525 MANJARI MEHER		Female	B. A./Arts/II	Renewal	10		85	85 850		850	850 0 1684
1287995 PINKI GUPTA		Female	B. A./Arts/II	Renewal	10		85	85 850		850	850 0 1684
1287998 RINKI GUPTA		Female	B. A./Arts/II	Renewal	10		85	85 850		850 0	850 0 1684
1288520 MAMTA GUPTA	A	Female	B. Sc./Science/II	Renewal	10		85	85 850		850 0	850 0 1734
1289516 UMA GUPTA		Female	B. Sc./Science/II	Renewal	10		85			850 0	850 0 1734
1290600 NEEKITA KHAMHARI		Female	B. A./Arts/II	Renewal	10		85			850 0	850 0 1684
1291423 RUPESHWARI PRADHAN	IAN	Female	B. A./Arts/III	Renewal	10		85			850 0	850 0 1684
1295657 SEEMA GUPTA		Female	B. Sc./Science/III	Renewal	10		85	85 850		850 0	850 0 1734
1297953 DEEPIKA PRADHAN		Female	B. Com./Commerce/III	Renewal	10		85			850 0	850 0 1684
1302626 REEMA YADAV		Female	B. Sc./Science/II	Renewal	10		85		850	850	850 0 1734
1311884 SHUBHA DEHARI		Female	B. A./Arts/III	Renewal	10		85	85 850		850	850 0

claration :

plandup form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the al no. 1 to I do here by sanctioning a sum of Rs. ilidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Illed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature & Spal phild ad of the Institution)
Name (Capitablate silvage
Pussore, Name Raigarh (C.G.)

winiment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: R/7/6014/3/10/82276

Sanction Date: 27/01/2018 Applications Type: Renewal

									2 S000000000000000000000000000000000000		90000000000000000000000000000000000000
호비	cation ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance
- 2	1419487 ku soniva choudhary	Female	B. A./Arts/III	Renewal	10	85	850	0	1684	1684	2534
	1439079 SHANTI SAO	Female	B. A./Arts/II	Renewal	10	85	850	0	1684	1684	2534
	THESUTE SHANIT SAC	Cindic	Control or solve						1004	1607	VCJC
	1430839 SUSHEELA BAI MAHANT	Female	B. A./Arts/III	Renewal	10	- 85	850	0	1684	1684	2534
	1432616 RADHA NISHAD	Female	B. Sc./Science/II	Renewal	10	85	850	0	1734	1734	2584
	TANCORO ANTI CLINTA	Fomalo	B Sc /Science/II	Renewal	9	70	630	0	1734	1734	2364
	1433020 ARII GUFIA	I Cilidic	י י יין ייין ייין ייין אי					The second secon	The second second	State of the state	2
	1436846 NALINEE GUPTA	Female	B. A./Arts/II	Renewal	10	85	850	0	1684	1684	2534
	1443195 SURBHI PRADHAN	Female	B. Sc./Science/II	Renewal	10	85	850	0	1734	1734	2584
	1443E3E CHEETAL DAG	Female	R Sc /Science/II	Renewal	10	85	850	0	1734	1734	2584
	#10000 OTTEN		The same of the sa		And the last of th	2	050	0	1684	1684	2534
	1444119 NEETA SAHU	Female	B. A./Arts/II	Renewal	10	g	000	C	LOOT	LOOT	1 002
	1445354 JANHAWI DANSENA	Female	B. Sc./Science/III	Renewal	10	85	850	0	1734	1734	2584
	1445942 MAMTA GUPTA	Female	B. A./Arts/III	Renewal	10	85	850	0	1684	1684	2534
						Total:	167675	6970	354272	361242	528917
	1									-	

claration :

ulfied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from no. 1 to 2021 do here by sanctioning a sum of Rs. 52.2.37.12...Out of which Rs. 1.4.26.55 maintenance allowance and Rs. 5.6.12...4.2.as tuition and other fees. Printed copy of online alldate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. In ship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

(Signature panel holded of the Institution)
Name (Ganillablate calling)
Pursion, Mr. Raigarh (C.G.)

vernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

Government of Chhattisgarh

Sanction Number: N/7/6014/3/10/82255

Sanction Date: 27/01/2018

Applications Type: Fresh

tion ID Student Name	Gender	Course	Туре	No. or Month	Kate	Allowance	ninon ree		
O14107 CITANIALI BARIK	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1844	1844
91419/ GITANJALI DANIN	I Cilidic		1	O CONTRACTOR OF THE PROPERTY O	70	630	0	1844	1844
1119903 SANGEETA SAO	Female	B. A./Arts/I	Fresh	9	/0	ANNA CARLO CONTRACTOR	1	1044	1050
1252344 AMIT KUMAR SA	Male	B. Com./Commerce/I	Fresh	9	55	495	115	1044	1050
DEADAD MILKECH NATK	Male	B. Com./Commerce/I	Fresh	9	55	495	115	1844	1959
CHOIC PIONESIA		D A /Arts/T	Fresh	10	70	700	0	1844	1844
1398791 ROJI PRADHAN	rellidie	D. 7./216/1			10	700	0	1844	1844
1399433 ARUNA GUPTA	Female	B. A./Arts/I	Fresh	10	~	700		1044	1944
1399458 SARITA SAO	Female	B. A./Arts/I	Fresh	10	70	/00/	0	107+	1011
1000024 SABOJANI PATE	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1844	1844
TOOOLT GONGSTEEL TOO	Eamalo	B Cr /Crience/T	Fresh	9	70	630	0	1884	1884
14U8848 BABITA PATEL	Cilidic	C. 001 000 001		•	70	700	0	1844	1844
1409221 ANUSUIYA NISHAD	Female	B. A./Arts/I	Fresh	10	0/	700		1001	2010
1411015 KRISHNACHAND SAO	Male	B. Sc./Science/I	Fresh	10	55	550	135	1884	6107
A11A01 ANITA SAO	Female	B. Sc./Science/I	Fresh	10	70	700	0	1884	1884
THE TOTAL PINE TO STORY	Fomalo	B Com /Commerce/I	Fresh	10	70	700	0	1844	1844
1411468 SHWETA PRADHAN	Female	B. Com./Commerce/1	116311		1	700	0	1844	1844
1412339 CHANDA PRADHAN	Female	B. A./Arts/I	Fresh	10	70	7007		1044	TTOI
1417366 RHAPTT RISHAL	Female	B. Sc./Science/I	Fresh	9	70	630	0	1884	1884
THE STATE OF THE S	Female	R A /Arts/I	Fresh	10	70	700	0	1844	1844
THIS SOUTH TINDING		B Com /Commerce/I	Fresh	10	70	700	0	1844	1844

claration :

Illied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from in 1 to 83.1 do here by sanctioning a sum of Rs. 22.0.24.3. Out of which Rs. 55.2.29 maintenance allowance and Rs. 16.4.27.3 as tuition and other fees. Printed copy of online Idiate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts manulp form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Beairochpad of the Institution) Name (Rapidlayeer-Spelloge Pussore, Dir Raigarh(C.G.)

wormment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

82255

State: Government of Chhattisgarh

Sanction Number: N/7/6014/3/10/82255

Sanction Date: 27/01/2018

Applications Type: Fresh

Applic	pplication ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun
2	1413759 KIRAN BHOY	Female	B. Sc./Science/I	Fresh	8	70	560	0	1884	1884	2444
2	1418311 ANKIT BARETH	Male	B. Com./Commerce/I	Fresh	10	55	550	115	1844	1959	2509
20	1418976 devesh choudhary	Male	B. Sc./Science/I	Fresh	9	55	495	135	1884	2019	2514
10	1419081 RAKHI PATEL	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1844	1844	2544
20	1420714 ISHWARI GUPTA	Female	B. Sc./Science/I	Fresh	10	70	700	0	1884	1884	2584
23	1422758 TILOTTAMA GUPTA	Female	B. A./Arts/I	Fresh	10	70	700	0	1844	1844	2544
25	1422770 DEEPANJALI GUPTA	Female	B. Sc./Science/I	Fresh	10	70	700	0	1884	1884	2584
5	1422831 SEETA BANJARA	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1844	1844	2474
2	1423227 PINKI NISHAD	Female	B. A./Arts/I	Fresh	10	70	700	150	1844	1994	2694
97	1423439 RESHMA BHOY	Female	B. A./Arts/I	Fresh	10	70	700	0	1844	1844	2544
8	1423450 NEHA PATEL	Female	B. Sc./Science/I	Fresh	10	70	700	0	1884	1884	2584
3	1423510 ANJULATA BARETH	Female	B. A./Arts/I	Fresh	10	70	700	0	1844	1844	2544
30	1423534 VINITA BEHRA	Female	B. A./Arts/I	Fresh	10	70	700	0	1844	1844	2544
27	1423537 PRAKASH PRADHAN	Male	B. Com./Commerce/I	Fresh	10	55	550	115	1844	1959	2509
72	1423611 NAMITA GUPTA	Female	B. A./Arts/I	Fresh	10	70	700	0	1844	1844	2544
83	1423628 PARMESHWARI BARETH	Female	B. A./Arts/I	Fresh	10	70	700	0	1844	1844	2544
1	1423878 MANISHA PATEL	Female	B. Sc./Science/I	Fresh	10	70	700	0	1884	1884	2584
350	1424399 SHFFTAI SAO	Female	B. A./Arts/I	Fresh	9	70	630	0	1844	1844	2474

Glaration:

Illuste have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts In a substitute of candidate and annual income of Parents/Guardian from all sources of the 11 10 11 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Illed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from egular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.



avernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: N/7/6014/3/10/82255

Sanction Date: 27/01/2018

Applications Type: Fresh

4 2	62	13	20	bh	811	47	27	45	14	43	42	111	40	39	38	45	36	Applic
1432034	1431555	1430981	1430729	1430556	1430329	1430236	1430213	1430088	1430081	1429825	1429294	1426738	1426705	1426659	1425735	1425724	1424440	Infilication 10
CHANDRA	YOGESHV	SHUBHAM	1430729 SUDHIR GUPTA	1430556 THABEER PATEL	1430329 DEV KUMARI SAO	LAKHAN L	1430213 MILI GUPTA	PRIYANK	1430081 REENA GUPTA	1429825 RADHA PATEL	1429294 KAVITA MALI	1426738 ANNAPURNA SAO	AMIT KUN	1426659 VINOD SAO	1425735 REETU YADAV	1425724 VIKASH GUPTA	1424440 KIRAN PATEL	.
1432034 CHANDRMA POBIYA	1431555 YOGESHWAR SHRIWAS	1430981 SHUBHAM KUMAR GUPTA	GUPTA	PATEL	ARI SAO	1430236 LAKHAN LAL BARETH	ATC	1430088 PRIYANKA PRADHAN	ATAU	ATEL	MALI	NA SAO	1426705 AMIT KUMAR GUPTA	AO	ADAV	GUPTA	ATEL	Student Name
																		Tie
Female	Male	Male	Male	Male	Female	Male	Female	Female	Female	Female	Female	Female	Male	Male	Female	Male	Female	Gender
B. Com./	B. A./Arts/I	B. A./Arts/I	B. Com./	B. A./Arts/I	B. Sc./Science/I	B. Com./	B. Sc./Science/I	B. Sc./Science/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. Sc./Science/I	B. Sc./Science/I	B. Com./	B. A./Arts/I	B. Sc./Science/I	B. Sc./Science/I	
B. Com./Commerce/I	s/I	s/I	B. Com./Commerce/I	s/I	ience/I	B. Com./Commerce/I	ience/I	ience/I	s/I	s/I	s/I	ience/I	ience/I	B. Com./Commerce/I	s/I	cience/I	zience/I	Course
Annual control of the	F	F		F	F		F	П	F	F	F	F	F		Г	П	F	
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
9	10	10	10	10	9	10	9	9	9	10	10	10	9	9	9	9	10	Month
																	***************************************	Kate
70	55	55	55	55	70	55	70	70	70	70	70	70	55	55	70	55	70	
630	550	550	550	550	630	550	630	630	630	700	700	700	495	495	630	495	700	Mowance
0	115	115	115	115	0	115	0	0	0	0	0	0	135	115	0	135	0	digion Fee
1844	1864	1844	1844	1844	1884	1844	1884	1884	1844	1844	1844	1884	1884	1844	1844	1884	1884	Maintenence luition ree Other ree lotal ree lotal Amount Allowance
18	19	19	19	19	18	10	10	11	11	11	11	11	21	1:	1,	2,	1.	lotal Fe
1844	1979	1959	1959	1959	1884	1959	1884	1884	1844	1844	1844	1884	2019	1959	1844	2019	1884	e 101
2474	2529	2509	2509	2509	2514	2509	2514	2514	2474	2544	2544	2584	2514	2454	2474	2514	2584	al Amoun

glaration:

addate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts marship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the In no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online ulted that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from of the regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Simoipand of the Institution)
Nam@readheavenecollingo
Pussore Dr. Raigarh(C.G.)

warmment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: N/7/6014/3/10/82255

Sanction Date: 27/01/2018

Applications Type: Fresh

Appli	Application ID Student Name	Gender	Course	Туре	No, of	Rate	Maintenence	Tuit	on Fee	on Fee Other Fee	Maintenence Tuition Fee Other Fee Total Fee Total Amount
					Month	1		Allowance	5	5	10004
0	1432273 JAGRITI SAO	Female	B. Sc./Science/I	Fresh	9	70		630	630 0	C	0 1884
5	1434983 BINDU BARIK	Female	B. A./Arts/I	Fresh	10	70		700	700 0	0	0 1844
9	1435005 PADMAWATI SHRIVAS	Female	B. A./Arts/I	Fresh	10	70		700	700 0		0 1844
0	1435109 JYOTSANA THETHAWAR	Female	B. Sc./Science/I	Fresh	10	70		700	700 0		0
YCA	1435290 YAMINI GUPTA	Female	B. Sc./Science/I	Fresh	10	70	0	0 700			700 0
	1435370 BANITA PRADHAN	Female	B. Sc./Science/I	Fresh	9		70	70 630		630	630 0
	1435525 MANJU PRADHAN	Female	B. Sc./Science/I	Fresh	10		70	70 700		700	700 0
	1436104 GEETANJLI PRADHAN	Female	B. A./Arts/I	Fresh	10		70	70 700		700	700 0
	1436463 DWITIYACHAND PRADHAN	Male	B. A./Arts/I	Fresh	10	1	55	55 550		550	550 115
	1436647 VINITA PATEL	Female	B. Sc./Science/I	Fresh	10		70	70 700		700	700 0
	1436903 NAMITA MEHAR	Female	B. Sc./Science/I	Fresh	10		70	70 700		700	700 0 1884
	1437220 SUMAN SAO	Female	B. Sc./Science/I	Fresh	10		70	70 700		700	700
	1437507 SANDEEP BHOY	Female	B. Sc./Science/I	Fresh	9		55	55 495		495	495 135 1884
	1438467 RAJNANDINI MAHANT	Female	B. A./Arts/I	Fresh	10		70	70 700		700	700 0
	1437912 DEEPAK SA	Male	B. Com./Commerce/I	Fresh	10		55	55 550		550	550 115
900	1438521 NEHA PRADHAN	Female	B. Sc./Science/I	Fresh	10		70	70 700		700	700 0 1884
9	1438879 DAMYANTI SAO	Female	B. Com./Commerce/I	Fresh	10		70	700 700		700	700 0
-	VACIAY VACIA AVIIISIIINA SECOCAL	Female	B. Sc./Science/I	Fresh	10		70	700		700	700 0

Glaration :

ulber regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Harahip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the I no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Illing that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from Idate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

(Signature & Seai ordiped of the Institution)
Name (Seykalayeen College
Pussore, Dr. Raigarh (C.G.)

mullon Register for Scholarship

mount of Chhattisgarh

Boholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: N/7/6014/3/10/82255

Applications Type: Fresh

Sanction Date:

27/01/2018

-	120	2	1	3			0	-	-	-	9	9	-	-	-	
458716 ANI	456607 JAG	1450336 SHA	1447398 AJAY SAHU	1446904 PAR	1446674 KUL	1445502 BH/	1445483 SET	1445182 PRA	1444624 PRE	1442502 BEL	1441794 DIN	1440575 YAS	1439824 VINOD GUPTA	1439391 TRI	1439376 SEE	TON TO
1458716 ANITA CHAKRAVARTY	456607 JAGRITI BAIRAGI	450336 SHARADA YADAV	Y SAHU	446904 PARMESHWAR SAO	446674 KULDEV GUPTA	445502 BHARAT LAL GUPTA	115483 SETKUMAR YADAV	445182 PRAVEEN NISHAD	444624 PREETI GUPTA	442502 BELMATI GUPTA	111794 DINANATH MAITRY	110575 YASHODA GUPTA	IOD GUPTA	1439391 TRITIYA MALAKAR	1119376 SEEMA MALAKAR	Student Name
Female	Female	Female	Male	Male	Male	Male	Male	Male	Female	Female	Male	Female	Male	Female	Female	Gender
B. Sc./Science/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Sc./Science/I	B. Com./Commerce/I	B. A./Arts/I	B. Sc./Science/I	B. Com./Commerce/I	B. Sc./Science/I	B. Sc./Science/I	B. Com./Commerce/I	B. Sc./Science/I	Course
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
10	10	10	9	10	10	10	9	10	10	9	10	10	9	9	9	No. of Month
70	70	70	55	55	55	55	55	55	70	70	55	70	- 55	70	70	Rate
700	700	700	495	550	550	550	495	550	700	630	550	700	495	630	630	Maintenence 1 Allowance
O	0	0	115	115	115	115	135) 115	0	0) 115	0	135	0	0	Tuition Fee
1884	1844	1844	1844	1844	1844	1844	1884	1844	1844	1884	1844	1884	1884	1844	1884	Other Fee
1884	1844	1844	1959	1959	1959	1959	2019	1959	1844	1884	1959	1884	2019	1844	1884	Total Fee
2584	2544	2544	2454	2509	2509	2509	2514	2509	2544	2514	2509	2584	2514	2474	2514	Tuition Fee Other Fee Total Fee Total Amount

liaration:

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from illier regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. 1 to 8.7.1 do here by sanctioning a sum of Rs.2.2.0.4.4.3...Out of which Rs.5.5.2.2.2 maintenance allowance and Rs.1.6.49.7.3. as tuition and other fees. Printed copy of online In the form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Illate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Total:

55270

3165

161808

164973

220243

(Signature & standing and of the Institution)
Name or have readyloge
Pussore bi- Raig arn(C.G.)

mutton Register for Scholarship

minimum of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: N/7/6014/1/9/82275

Sanction Date: 27/01/2018

pp
lications
Type:
Fresh

Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1771119 SAVITA CHOUHAN	Female	B. A./Arts/I	Fresh	10	230	2300	0	1844	1844	4144
1423883 GULAPI CHOUHAN	Female	B. A./Arts/I	Fresh	10	230	2300	0	1844	1844	4144
1427659 JAGESHWARI SARTHI	Female	B. Sc./Science/I	Fresh	10	230	2300	0	1884	1884	4184
1428836 TAPASHWINI CHOUHAN	Female	B. Sc./Science/I	Fresh	10	230	2300	0	1884	1884	4184
1429082 MAMTA CHAUHAN	Female	B. A./Arts/I	Fresh	10	230	2300	0	1844	1844	4144
1429959 LAXMIN BHASKAR	Female	B. Sc./Science/I	Fresh	9	230	2070	0	1884	1884	3954
1430382 ANJALI CHOUHAN	Female	B. A./Arts/I	Fresh	10	230	2300	0	1844	1844	4144
1430886 RUPENDRA BHARTI	Male	B. A./Arts/I	Fresh	10	230	2300	0	1844	1844	4144
1431180 ANIL KUMAR CHOUHAN	Male	B. A./Arts/I	Fresh	9	230	2070	0	1844	1844	3914
1432598 BHUWNESHWAR CHOUHAN	Male	B. Com./Commerce/I	Fresh	9	230	2070	0	1844	1844	3914
1435071 DIVYA SARTHI	Female	B. A./Arts/I	Fresh	10	230	2300	0	1844	1844	4144
1435848 PARWATI CHOUHAN	Female	B. Sc./Science/I	Fresh	10	230	2300	0	1884	1884	4184
1438180 RAJNI CHOUHAN	Female	B. Sc./Science/I	Fresh	10	230	2300	0	1884	1884	4184
1440446 PRANATI KUSUM CHOUHAN	Female	B. Sc./Science/I	Fresh	10	230	2300	0	1884	1884	4184
1442422 SONAL BHARADVAJ	Female	B. A./Arts/I	Fresh	10	230	2300	0	1844	1844	4144
1444108 LATA CHOUHAN	Female	B. Sc./Science/I	Fresh	9	230	2070	0	1884	1884	3954
1447481 CHANDRAKANT CHOLIHAN	Malo	B. Com./Commerce/I	Fresh	10	55	550) 115	1844	1959	2509

laration :

1 to 1.3. I do here by sanctioning a sum of Rs. 692.7.3....Out of which Rs.36.43.0 as maintenance allowance and Rs.36.7.4.3... as tuition and other fees. Printed copy of online that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. In have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts In this form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

(Signature & Stanciped of the Institution)
Name(OdpNaveete Splinge
Pussors, Dir Naigarh (C.G.)

mment of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

82215

State: Government of Chhattisgarh

Sanction Number: N/7/6014/1/9/82275

Applications Type: Fresh

Sanction Date: 27/01/2018

Total:

claration:

other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. no. 1 to 1.7. I do here by sanctioning a sum of Rs. 684.7.3....Out of which Rs. 6.4.3.9 maintenance allowance and Rs. 31.7.4.3 as tuition and other fees. Printed copy of online larship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Idate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts ied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

(Signature three publication of the Institution)
NaGev(ChairetheCollage
Pussere, No. Traigarh(C.G.)

evernment of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: R/7/6014/1/9/82279

Sanction Date: 27/01/2018

Applications Type: Renewal

	Scotte in Manife	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee	Tuition Fee	Other Fee	Total Fee	Total Fee Total Amount
54945	549457 SHARDA GADA	Female	B. A./Arts/III	Renewal	10	300	3000	0	1684	1684	
18491	184913 Sarita Chouhan	Female	B. A./Arts/III	Renewal	10	300	3000	0	1684	1607	
33852	338525 bikash kumar chouhan	Male	B. Sc./Science/III	Renewal	10	300	3000)	1001	+001	4684
51962	519628 dillo kumar chouhan	Molo	B Co /Colone /TTT		10	000	0000	0	1/34	1734	4734
A PAGE	o omp surren crounds	Male	B. SC./Science/III	Renewal	10	300	3000	0	1734	1734	4734
J 32207	522679 PRAMILA CHOUHAN	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1734	1734	7727
566917	566917 MITHILA CHOUHAN	Female	B. Com./Commerce/III	Renewal	10	300	2000)		10,71	47.74
574617	574617 KAUSHALYA CHOLIHAN	Female	B A /A+c/III		COMPANY AND	000		C	1084	1684	4684
674747	WALBANA CHOLINAN	T Ciliaic	D. A./AIIS/III	Kenewal	10	300	3000	0	1684	1684	4684
14/4/0	RALFANA CHOOHAN	Female	B. A./Arts/III	Renewal	.10	300	3000	0	1684	1684	4684
9 577292	577292 HARISH KUMAR CHOUHAN	Male	B. Sc./Science/III	Renewal	10	300	3000	0	1744	1744	7777
8 685600	685600 GEETANJALI CHOUHAN	Female	B. A./Arts/III	Renewal	10	300	3000	0	1684	1604	
688765	688765 ASHTAMI CHOUHAN	Female	B. A./Arts/III	Renewal	. 10	300	UUUE	0 0	1607	1001	4084
749239	749239 REETU CHOUHAN	Female	B. Sc /Science/II	Danawal	•			(1001	±001	4084
800068	BOOGGE BHARATIAL KIERE	Mala	B. Sc./Science/II	Reflewal	10	300	3000	0	1734	1734	4734
1304000	DISTRACT DATA DATAS	Male	B. Sc./Science/II	Renewal	10	300	3000	0	1734	1734	4734
A GEOLUSIA A	POSTPACAIA KAIKE	Female	B. Sc./Science/II	Renewal	10	300	3000	0	1734	1734	4734
\$ 994238	TNASAB JASMITA BASANT	Female	B. Sc./Science/II	Renewal	10	300	3000	0	1734	1734	1071
6 1054808	1054808 PARVATI KURRE	Female	B. Com./Commerce/II	Renewal	10	300	2000	0 0		1/34	4/34
7 1136230	1136230 KUNTALA CHOUHAN	Female	R A /Arts/III		, i	000	2000	0	1684	1684	4684
			and the color of	ivericasqu	TO	300	3000	0	1684	1684	1601

Glaration

illustion have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts In this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from a line of the scholarship application and other fees. Printed copy of online of the results and the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the



mment of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: R/7/6014/1/9/82279

Sanction Date: 27/01/2018

Applications Type: Renewal

		Academic real . For										
Applic	ation ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Fee Other Fee	Total Fee	Total Amount
۹	1252273	1252273 GIRJA CHOUHAN	Female	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
1	1252591	1752591 DHANESHWARI CHOUHAN	Female	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
	1269591	1269501 LAXMI LAHRE	Female	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
	1275073	1275073 LISHA CHOUHAN	Female	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
	1288135	288135 ANIALI CHOUHAN	Female	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
-	1295503	295503 AARTI CHOUHAN	Female	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
4	1295597	295597 MEENA CHOUHAN	Female	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
9	1295940	295940 VIJAY CHOUHAN	Male	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
	1440588	1440588 SAVITA CHOUHAN	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1734	1734	4734
9							Total:	78000	0	44244	44244	122244

Glaration :

1 10 2.6 I do here by sanctioning a sum of Rs. 1.2.2.4.4...Out of which Rs. 2.0.0 as maintenance allowance and Rs. 4.4.2.4.4.4 stuition and other fees. Printed copy of online while regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. all date have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts marship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Illied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

(Signature & Star Chriend of the Institution)

Name (Caphar Leters)

Pussor, Dr. (C.G.)



SHOULD REGISTED BY BERGINGHIP

THE RESERVE OF DISTRIBUTED AND

State: Government of Chhattisgarh

Sanction Number: R/7/6014/2/7/81753

Sanction Date: 27/01/2018

Applications Type: Renewal

	British Mante	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Maintenence Tuition Fee Other Fee Allowance	FINE STATE OF	Total Fee	Total Amount
101	NAME OF STREET STREET	Mala	B. Com./Commerce/III	Renewal	9	230	2070	0	1844	1844	3914
1991	INTERNATION ATTENDANCE	Female	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
191	WILLS WHITH HEITER	Female	B. A./Arts/III	Renewal	10	300	3000	0	1684	1684	4684
790	BAGIS BANGUS BATTU FILIDE	Male	B. A./Arts/III	Renewal	10	300	3000	0	1684	1684	4684
749	OVE NAMED HEREDA TERRE	Male	B. Com./Commerce/III	Renewal	10	70	700	115	1684	1799	2499
70.6	MADE NAHOMMAN ENGINE	Male	B. Sc./Science/III	Renewal	10	300	3000	0	1734	1734	4734
070	BYUUN ANDU KISHAN	Female	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
1001	NACIE ISNAM ORBIGO	Female	B, Sc./Science/II	Renewal	10	300	3000	0	1734	1734	4734
1111	131803 TANUJA SIDAR	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1734	1734	4734
1111/1	137010 MUKTANJALI BEHARA	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1734	1734	4734
1011	138815 ANUPAMA SIDAR	Female	B. A./Arts/III	Renewal	10	300	3000	0	1684	1684	4684
11407	149785 DHARUNI SIDAR	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1734	1734	4734
11111	YOHR TININAMIEUR IERRE	Female	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
10.00	1338306 BANJEETA SIDAR	Female	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
13461	YOHE ATIVAN CELEBEL	Female	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
1200	JODJON BUSHMA SIDAR	Female	B. A./Arts/II	Renewal	10	300	3000	0	1684	1684	4684
13731	NOVEL HEURING TRACK	Male	B. Sc./Science/II	Renewal	10	300	3000	0	1734	1734	4734

Blaration

and the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. In the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts In this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from ment of the copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the 110 To The horn by manutioning a sum of Rs.1.4.7.4.83...Out of which Rs.9.2.7.20 as maintenance allowance and Rs.5.4.223...as tuition and other fees. Printed copy of online



mont of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

State: Government of Chhattisgarh

Sanction Number: R/7/6014/2/7/81753

Sanction Date: 27/01/2018

Applications Type: Renewal

147483	54713	54598	115	92770	Total:					
4684	1684	1684	0	3000	300	10	Renewal	B. Com./Commerce/III	Male	1418594 SUNDAR LAL SIDAR
4684	1684	1684	0	3000	300	10	Renewal	B. Com./Commerce/III	Male	1411244 ASHOK SIDAR
4684	1684	1684	0	3000	300	10	Renewal	B. Com./Commerce/II	Male	1313567 LAXMIKANT BHOY
4684	1684	1684	0	3000	300	10	Renewal	B. Com./Commerce/II	Male	1313523 SUNIL BHOY
4684	1684	1684	0	3000	300	10	Renewal	B. A./Arts/III	Female	1309963 SUMITRA SARAL
4734	1734	1734	0	3000	300	10	Renewal	B. Sc./Science/III	Male	1309887 NARESH SIDAR
4684	1684	1684	0	3000	300	10	Renewal	B. Com./Commerce/III	Male	1302404 RAMESH KUMAR
4684	1684	1684	0	3000	300	10	Renewal	B. A./Arts/III	Female	1299869 Banita Bhoy
4684	1684	1684	0	3000	300	10	Renewal	B. A./Arts/III 202	Male	1296410 BEDRAM SIDAR
4734	1734	1734	0	3000	300	10	Renewal	B. Sc./Science/II	Female	1291848 MAYA SIDAR
4734	1734	1734	0	3000	300	10	Renewal	B. Sc./Science/II	Female	1289295 MAHIMA SARAL
4684	1684	1684	0	3000	300	10	Renewal	B. Com./Commerce/III	Female	1288987 SUMATI SIDAR
4684	1684	1684	0	3000	300	10	Renewal	B. A./Arts/II	Female	1274311 PRATIMA SIDAR
4734	1734	1734	0	3000	300	10	Renewal	B. Sc./Science/II	Female	1274030 GANGA BHOY
4734	1734	1734	0	3000	300	10	Renewal	B. Sc./Science/II	Female	1273877 JAMUNA BHOY
Total Amour	Total Fee Total Amount	2000000000000	Tuition Fee	Allowance Iuition Fee Other Fee	Kate	Mo. of Month	Гуре	Course	Genger	Callion ID Student Name

laration :

ther regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. date have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts arship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the fied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from no. 1 to 3.2. I do here by sanctioning a sum of Rs. 1.4.7.4.8.3. Out of which Rs. 2.2.7.2 as maintenance allowance and Rs. 5.4.7.1.3... as tuition and other fees. Printed copy of online

(Signature & Seat of citizan of the Institution)

Name (Oppriantering) College

Pussers Don Religanh (C.G.)

Page 2/2

overnment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name : Government Collage Pussore

Academic Year: 2017 - 18

to : Covernment of Obbettions L

State: Government of Chhattisgarh

Sanction Number: N/7/6014/2/7/81668

Sanction Date: 27/01/2018
Applications Type: Fresh

1401538 ANJANA SIDAR 1411896 BILASINI SIDAR 1412897 MAMTA BHOY	Female Female		Fresh Fresh	No. of Month	230 230		Tuitic	on Fee (Other
1412897 MAMTA BHOY	Female	B. A./Arts/I	Fresh	10	230	2300	and comments of the same state	0	THE RESERVE OF THE PARTY OF THE
1413027 ANJALI BHOY	Female	B. Com./Commerce/I	Fresh	10	230	2300		D	0 1944
1418384 ANJU BAI SIDAR	Familia	D Co /Colomos /T	1	10	230	2300		0	0 1844
14 IBBOO DEVADOLAN OTOAK	remale	B. Sc./Science/I	Fresh	10	230	2300		0	0 1884
1710000 DEVARCHAN SIDAR	Male	B. A./Arts/I	Fresh	10	230	2300		0	0 1844
1419215 SANGEETA SIDAR	Female	B. A./Arts/I	Fresh	10	230	2300	-	0	0 1844
1419373 JUGESHWAR SARAL	Male	B. Sc./Science/I	Fresh	10	230	2300		0	
1420380 PUSHPA SIDAR	Female	B. Sc./Science/I	Fresh	10	230	2300		0	
1420458 BIMLA SIDAR	Female	B. Sc./Science/I	Fresh	10	230	2300		0	
1922/40 PREETI SIDAR	Female	B. A./Arts/I	Fresh	10	230	2300		0	0 1844
1923212 SUREKHA SARAL	Female	B. Sc./Science/I	Fresh	10	230	2300		0	0 1884
1929037 Udeshwar Saral	Male	B. Sc./Science/I	Fresh	10	230	2300		0	0 1884
THE THE PROPERTY OF THE PERSON	Female	B. Sc./Science/I	Fresh	10	230	2300		0	0 1884
1429371 JYOTI SIDAR	Female	B. A./Arts/I	Fresh	10	230	2300	The state of the s	0	0 1844
1429797 MADHURI BHOY	Female	B. Sc./Science/I	Fresh	10	230	2300		0	0 1884
ATTOUR WANTALIA SIDAR	Male	B. A./Arts/I	Fresh	10	230	2300		0	0 1844

Glaration 1

Illino 110 110 hore by sanctioning a sum of Rs. 1.9.5.41.0. Out of which Rs.8.2.2.2. as maintenance allowance and Rs. 4.5.1.9.0. as tuition and other fees. Printed copy of online Illust that studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from all the results and the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. In the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts and the second of the second of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

(Signature & Seal of Regard the Institution)
Name (Capital Navelsh College
Pust are and Relgarh (C.G.)

wernment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18



State: Government of Chhattisgarh

Sanction Number: N/7/6014/2/7/81668

Sanction Date: 27/01/2018 Applications Type: Fresh

Ion ID Student Name Gender Course Type Mo. of Month Maintenence Month Maintenence Month Other Fee	4144	1844	1844	0	2300	230	10	Fresh	B. A./Arts/I	Female	1455626 SHRIMATI KISAN
Sturdent Name Genuter Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Fee Total Fee Total Fee SURYAKANTI SARAL Female B. A/Arts/I Female B. A/Arts/I Female B. A/Arts/I Female J. Mare 230 230 230 1844 1844 1844 KANTA SARAL Female B. A/Arts/I Female B. A/Arts/I Female 230 230 230 230 1844 1844 1844 Chaltan Saral Male B. A/Arts/I Fresh 10 230 230 230 1844 1844 KAVITA SIDAR Female B. Sc/Science/I Fresh 10 230 230 0 1884 1884 NEHA SIDAR Female B. Sc/Science/I Fresh 10 230 230 0 1884 1884 PALIUS SIDAR Male B. A/Arts/I Fresh 10 230 230 0 1844 1844	4144	1844	1844	0	2300	230	10	Fresh	B. A./Arts/I	Male	1435151 SHIVAM SIDAR
Student Name Gender Course Type No. of Month Rate Maintenence Allowance Other Fee Other Fee Total Fee Total Fee Other Fee Total Fee Total Fee Total Amonth SuryakAMTI SARAL Female B. A./Arts/I Fresh 10 10 230 230 230 0 1844 1844 1844 KAVITA SARAL Female B. Sc/Science/I Fresh 10 10 230 2300 230 0 1884 1884 1884 KAVITA SIDAR Female B. Sc/Science/I Fresh 10 230 230 230 280 2884 1884 KAVITA SIDAR Female B. Sc/Science/I Fresh 10 230 230 0 1884 1884 NEHA SIDAR Female B. Sc/Science/I Fresh 10 230 230 0 1884 1884 PRAKUNTALA SIDAR Male B. A./Arts/I Fresh 10 230 230 0 1844	4144	1844	1844	0	2300	230	10	Fresh	B. A./Arts/I	Male	1432720 TILESH KUMAR BHOY
Student Name Gender Course Type No. of Month Rate Mainteinence Allowance Twitton Fee Other Fee Total Amount Total Amount SURYAKANITI SARAL Female B. A/Arts/I Fresh 10 20 230 0 184 184 1844 </td <td>4144</td> <td>1844</td> <td>1844</td> <td>0</td> <td>2300</td> <td>230</td> <td>10</td> <td>Fresh</td> <td>B. A./Arts/I</td> <td>Female</td> <td>1425058 SASMEETA MIRADHA</td>	4144	1844	1844	0	2300	230	10	Fresh	B. A./Arts/I	Female	1425058 SASMEETA MIRADHA
Student Name Gender Course Type No. of Month Rate Maintenence Tuition Fee Other Fee Total Amonth Total Amonth Total Amonth Rate Maintenence Tuition Fee Other Fee Total Amonth Total Amonth Total Amonth Total Amonth Total Amonth Total Fee Total Amonth Total Fee Total Amonth Total Fee Total Amonth Total Amonth Total Amonth Total Amonth Total Fee Total Amonth Total Amonth Total Amonth Amont	3914	1844	1844	0	2070	230	9	Fresh	B. Com./Commerce/I	Female	1446343 PREETI SIDAR
Student Name Gender Course Type No. of Month Rate Maintenence Allowance Other Fee Other Fee Total Fee Total Amonth SURYAKANTI SARAL Female B. A/Arts/I Fresh 10 230 230 230 1844	4144	1844	1844	0	2300	230	10	Fresh	B. A./Arts/I	Female	1445316 SHASHIKALA SIDAR
Student Name Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Fee Total Fee Total Amount Total A	4184	1884	1884	0	2300	230	10	Fresh	B. Sc./Science/I	Female	1445205 TULSI SIDAR
Student Name Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Fee Total Fee Total Fee SURYAKANTI SARAL Female B. A./Arts/I Fresh 10 230 230 230 1844 1844 1844 KAVITA SARAL Female B. Sc./Science/I 283 Fresh 10 251 230 425 0 1844 1844 Chaltan Saral Male B. A./Arts/I Fresh 10 230 230 230 1844 1844 SEEMA KHRIYA Female B. Sc./Science/I Fresh 10 230 230 0 1844 1844 KAVITA SIDAR Female B. Sc./Science/I Fresh 10 230 230 0 1844 1844 LAXMI SIDAR Female B. Sc./Science/I Fresh 10 230 230 0 1884 1884 NEHA SIDAR Female B. Sc./Science/I Fresh 10 <td< td=""><td>4144</td><td>1844</td><td>1844</td><td>0</td><td>2300</td><td>230</td><td>10</td><td>Fresh</td><td>B. A./Arts/I</td><td>Female</td><td>1444953 SHAKUNTALA SIDAR</td></td<>	4144	1844	1844	0	2300	230	10	Fresh	B. A./Arts/I	Female	1444953 SHAKUNTALA SIDAR
Student Name Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Fee Total Fee Total Amount Total Fee SURYAKANTI SARAL Female B. A./Arts/I Fresh 10 230 230 230 0 1844 1844 1844 KAVITA SARAL Female B. Sc./Science/I 230 Fresh 10 2531 230 2300 230 0 1844 1844 1844 MANIETA KISHAN Female B. A./Arts/I Fresh 10 230 2300 230 2300 1844 1844 1844 Chaitan Saral Male B. A./Arts/I Fresh 10 230 2300 230 2300 1844 1844 1844 SEEMA KHRIYA Female B. Sc./Science/I Fresh 10 230 2300 230 230 230 230 230 230 230 230 230 230 230 230 230 230 23	4144	1844	1844	0	2300	230	10	Fresh	B. A./Arts/I	Male	1443017 ROHIT SIDAR
Student Name Gender Course Type No. of Month Rate Month Maintenence Allowance Tuition Fee Other Fee Total Amount To	4144	1844	1844	0	2300	230	10	Fresh	B. A./Arts/I	Male	1441946 ARUN KUMAR SIDAR
Student Name Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Fee Total Amount Total Amount Total Fee SURYAKANTI SARAL Female B. A./Arts/I Fresh 10 500 230 230 230 1844 1844 1844 MANIETA KISHAN Female B. A./Arts/I Fresh 10 500 230 230 250 0 1844 1844 Chaitan Saral Male B. A./Arts/I Fresh 10 230 230 230 1844 1844 SEEMA KHRIYA Female B. Sc./Science/I Fresh 10 230 230 230 1844 1844 KAVITA SIDAR Female B. Sc./Science/I Fresh 10 230 230 0 184 1844 KAVII SIDAR Female B. Sc./Science/I Fresh 10 230 230 0 184 1884 B. Sc./Science/I Fresh 10 230 230 0 184 <td>4184</td> <td>1884</td> <td>1884</td> <td>0</td> <td>2300</td> <td>230</td> <td>10</td> <td>Fresh</td> <td>B. Sc./Science/I</td> <td>Female</td> <td>1437492 NEHA SIDAR</td>	4184	1884	1884	0	2300	230	10	Fresh	B. Sc./Science/I	Female	1437492 NEHA SIDAR
Student Name Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Fee Total Fee SURYAKANTI SARAL Female B. A./Arts/I Fresh 10 230 230 230 1844 1844 KAVITA SARAL Female B. Sc./Science/I 730 Fresh 10 230 230 426-0 0 1844 1844 Chaitan Saral Male B. A./Arts/I Fresh 10 230 230 230 426-0 1844 1844 SEEMA KHRIYA Female B. Sc./Science/I Fresh 10 230 230 230 1844 1844 KAVITA SIDAR Female B. Sc./Science/I Fresh 10 230 230 0 1884 1884	4184	1884	1884	0	2300	230	10	Fresh	B. Sc./Science/I	Female	1435583 LAXMI SIDAR
Student Name Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Fee Total Fee SURYAKANTI SARAL Female B. A./Arts/I Fresh 10 230 230 230 0 1844 1844 KAVITA SARAL Female B. Sc./Science/I 250 Fresh 51 500 230 2300 4160 0 1884 1884 MANEETA KISHAN Female B. A./Arts/I Fresh 10 230 2300 4160 0 1844 1844 Chaitan Saral Male B. A./Arts/I Fresh 10 230 2300 0 1844 1844 SEEMA KHRIYA Female B. Sc./Science/I Fresh 10 230 2300 0 1844 1844	4184	1884	1884	0	2300	230	10	Fresh	B. Sc./Science/I	Female	1435452 KAVITA SIDAR
Student Name Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Fee Total Fee SURYAKANTI SARAL Female B. A./Arts/I Fresh 10 230 230 230 1844 1844 KAVITA SARAL Female B. Sc/Science/I 250 Fresh 5 10 230 2300 426.4 0 1844 1844 MANEETA KISHAN Female B. A./Arts/I Fresh 10 230 230 0 1844 1844 Chaitan Saral Male B. A./Arts/I Fresh 10 230 230 0 1844 1844	4184	1884	1884	0	2300	230	10	Fresh	B. Sc./Science/I	Female	1435192 SEEMA KHRIYA
Student Name Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Fee Total Fee SURYAKANTI SARAL Female B. A./Arts/I Fresh 10 230 230 0 1844 1844 KAVITA SARAL Female B. Sc./Science/I 250 Fresh 51 500 230 416-1 0 1884 1884 MANIEETA KISHAN Female B. A./Arts/I Fresh 10 230 230 416-1 0 1844 1844	4144	1844	1844	0	2300	230	10	Fresh	B. A./Arts/I	Male	1431896 Chaitan Saral
Student Name Gender Course Type No. of Maintenence Tuition Fee Other Fee Total Fee SURYAKANTI SARAL Female B. Sc./Science/I 230 Frēsho o 10 5534 2300 4184 0 1884	4144	1844	1844	0	2300	230	10	Fresh	B. A./Arts/I	Female	1431681 MANEETA KISHAN
Student Name Gender Course Type No. of Maintenence Tuition Fee Other Fee Total Fee SURYAKANTI SARAL Female B. A./Arts/I Fresh 10 230 230 0 1844 1844	4184	1884	1884					Freshio	B. Sc./Science/I 730	Female	1431295 KAVITA SARAL
Student Name Gender Course Type No. of Rate Month	4144	1844	1844	0	2300	230	10	Fresh	B. A./Arts/I	Female	1430855 SURYAKANTI SARAL
	Total Amount	Total Fee	Other Fee	uition Fee	Maintenence Tu Allowance		No. of Month	Туре	Course	Gender	pplication ID Student Name

laration :

ther regular scholarship/superiod the last section in the period it is detected. idate have been kept safely in the allowed the surflet allowed competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts arship form attached with a million to make the months have qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the fied that students studying in this includion are untitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from no. 1 to I do here by annual manner of the manner out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature & Search Catholist the Institution)
Name (Convi Mayor) College
Pussers Of Raigarh (C.G.)

remment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Government Collage Pussore

Academic Year: 2017 - 18

31668

State: Government of Chhattisgarh

Sanction Number: N/7/6014/2/7/81668

Sanction Date: 27/01/2018

Applications Type: Fresh

Total:

Hen - 32 Men - 32

laration :

other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. larship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the fied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from I no. 1 to 3.5. I do here by sanctioning a sum of Rs. 1.4.5.4.0.Out of which Rs80.2.7.0 as maintenance allowance and Rs. 6.5.1.4.0. as tuition and other fees. Printed copy of online idate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

(Signature & Steinstined of the Institution)
Name (Capital Year Soilege
Pussers of Raigarh (C.G.)